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MATHEMATICS (SCIENCE GROUP) PAPER CODE - 5197 (/0 Pl

GROUP : FIRST g |2 CLASS 1% Annual 2024 UF | gt S
TIME : 20 MINUTES w% ' 1010 0 A 20 =
TOTAL MARKS : 15 %% OBJECTIVE PART ('3 -# 15: AF

Sk Jlbe Luf'ﬁé’a’l)b(ﬁd’/’bié—) 2\ ﬁ;z,q.gdb’dlﬁ_uzéf.é.:DulA,B,C oMz BN LsZ g wbia
' ..fyurﬂw..,l‘Zufi S azf(!d'.f{fh‘aﬂl.f‘gfuu'b wie Ll A off b T o o35
"NOTE: TFour possible answers A, B, C and D to each question are given. The choice which you think is
correct, fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or
mote bubbles will result in zero marks in that question.

Question No. 1 ok — t—>y 1-A iy
The symbol used for CONGruent iS........vue ce Ot S ezt LS| 1
<—> (D) 1 (€] I (B) = (A)
Congruent figures have .....cc.cuee area -4 b S Ef Jie | 2
Zero /* (D) Greater 1% (C) Same e Ll (B)  Small &4 (A) |~
The quadrilateral have each angle of 90° is called ....ecvemnrenees =2 du n¥ 90°,_.,;u' A6 Jf_g 3
Parallelogram {4»ui# (D) Rectangle J:l'v (C)  Rhombus uf (B) Triangle &L (A)
The adjoint of [i —:] is - 4z Adj ¥ [i —ZJ 4
(5 e P e (3 e G ow
The conjugate of {6 —4i) is _q..Jib’b’(G—M) 5
6+4i (D) 6+6i (C) 4-—6i (B) 6—4i (A)
log(m"p) can be written as -4 ffl,- W Iog(m"p) -6
n{log m —log p) (D) m log m - n log p~(€) nlogm+logp (B) nlogm-logp (A)
a’—ab* is equal to 'y a'-ab*| 7
(a2+b?),(a’~4b") (D) (a%+2b%),(a’-2b") (C) (a%b?),(a+b),(a-b) (B) (a+b),(a=2b),(a+2b) (A)
Find m so that X’+4x+m is a complete square o Ll d/ Jb’x2+ 4x+m d.cf. =d ujf;fm 8
4 (D) -4 (C) 8 () -8 (A)
H.C.F of a’+b® and a’—ab + b’ is As- (" bl ¥ a’-ab + b> a+h® | 9
| a*+b (D) (a+b) (C) (a-b)? (B) a—ab+b’ (A)
if x is no longer than 10 then In sy e 10 =d x| 10
x>10 (D) x<10 () x<10 (B) x>10 (A)
The Point (-3, -3) lies i ceeeeen. quadrant e Zb L Z y&(-3,-3) 65 | 11
"IV (D) I (C) I (B) I (A)
The mid-point of (2, 2) and (0, 0) is g 43 Qips ¥ (0,0) 4 (2,2)48 | 12
(1,1) (D) (2,2) (€ (2,-2) (8) (0,0) (A)
A ray has e end points Ly Z st L] 13
4 (D) 3 () 1(8) 2(A
bt LO A B W L S48 G LU Lat| aa
The line joining to the mid-points of two sides of a triangle is .....cueecnnens to third side.
Similar & (D) Perpendicular ¥ (€} Congruent Ji () Parallel {17 (A)
Bisection means, to divide into ............. equal parts - ¢/ (.‘7 LU Az Ay e | 15
| 5 (D) 2 () 4 (B) 3 (A)
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GROUP : FIRST LTI TILL L Y

TIME 2 : 10 HOURS SUBJECTIVE PART ¥~ Bl 210882 120 |
TOTAL MARKS : 60 PART - | Jsl mas gl 60: AJ kv

Q. No.2 Write shortanswers to any Six of the following 2x6 ../_f,g/’utli/" £rl?l{ c.af 2 /Jfr \T
Determine whether the given matrix is singular or non singular? $ b L ¢ AT b M vy (i)
z 4l

2 -4

Simplify and write your answer in the form of a + bi Az P Satbiiz sl = & (i)
(-5 + 2i)(-2+3i)

impli 3f__8_ .S | (iii
Simplify e = z & (iii)

Find the number whose value of common logarithmis 1.7427 4 ¢ = d’fﬁ’:‘rb LAEE e mn) (V)

Find the value of x loge: 8 = g " loge 8 = g A9 O Jxt W
Define polynomial. Eail s (vi)
ifx=2-v3 , then find j-c o e o Uri. 3 x=2-v3 A | i)

3x*+12y° 2 7 | (viii)
Y P +2) £ -3 +dx-14 B 2 02 By < 0u S B 2o | (IX)

Use Remainder theorem to find remainder when £~ 33 + 4x —14 is divided by (x+2)

Factorize 3x+ 12y4

Q. No.3 Write short answers to any Six of the following, 2x6 _éf,(f uLII/"”L'III Z :..Jf 3 /d'r‘
Find the H.C.F 39x" y’z, 9lfy6z7 39x"y'z, 91x°y’7’ ir,”’ (yl so| (D)
| g/ S e i | (i)
3x+1<5x-4 -2Ef| (iii)

Define Radical Equation.

Solve 3x+1<5x-4

If F=§C+32,thenfindthevalueofFifC=30 .nC=30fl q‘{r)"F In F=-:-C+32 Ji| (iv)
S| )
A4,4),B(4,-2) Z£ ¢ 3 Qs € Uz £ 48 (vi)

Define ordered pair.

Find the mid-point between pairs of points A(4,4), B(4, -2)
(7,5),(1,-1) 25 ¢ b glen Lusiz £ 46| (vii)

Find the distance between the pairs of points (7,5),(1,-1)
fSe e HSZHS {viii)

_Zp# moat x In LU0 P LI ABCD J" &l (ix)

What is meant by H.S = H.S ?

If the given figure of ABCD is a parallelogram, then find x, m

(P.T.0 &40s) y
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0.4 Write short answers to any Six of the following 2x6 ..2{4;’ :4913/3[,’!734: ;.Jf 4 /dlr

sefine Bisector of an angle. -é ...g/’ d’ I sl (i) W
: e s Lol ot sem, aem,3em| (i)

Verify 3 cm, 4 cm, 5 cm are the length of triangles or not ? Given reason.
6’{“’]"92(; lly » o . Y-} (J!U' d,u uﬁ PQR 248 (iii)

in Isosceles tnang!e PQR, find value of “x” and “y”

State Pythagorus theorem. ’ E el e (iv)
Find the value of “x” e x| (v)
12cm X cm
5cm
Define Rectangular Region. : ZEwSd ‘Lﬂ/ (vi)
Find the area of figure. -ér)” P & (vii)
- 9cm |
v 9cm
Construct a triangle ABCin which mAB =4.2¢m,mBC=3.9cm, mCA=3.6 cm 2 JkABC it (viii)
Define In-centre of triangle. ' cZE WP Qi [ ¢ et (ix)
Part —II" o »
8x3=24 e NI B E S iy f S bt b

NOTE : Attempt THREE questions from this part whereas Question No.9 is compulsory

x—2;1=3 , 2x-3y=4 ‘A:-{-JG—)AJJJ"LUX’WJ(U?’JPH (A)-5 : AU

Solve the Linear equation by inversion method x-2y=3 , 2x83y=4

.2 1 2 1 ‘
L (216)73(25) /2 (216)73(25) /2 (B)
Simplify (.04)__1 % ('04)—1 78 ‘s'{ Y4
Use log tables to find the value of %%E e e sud e ‘} &9 (A)-6: FUir

- I Sy tyrtze In Py =52 xty+z=10 i | (B)

| If xty+z =10 and x* +y*+2 =52 , then find the value of xy +yztzx

Solve by factor theorem X’ +x?-10x+8 X P10x+8 ES e 7 (A)-7: /,)‘Jl,/
4+25x° ~ 12x - 24°+16x* -2 o B 7 s | (B)
Use division method to find the square root of 4+25x° — 12x — 24x°+16x*

Solve the equation &g_—?'l = sl —g— 5(x6— ) %= ], s f -&(r!’"vd' (A)-8: £ Ui

q’{dﬂJLnﬁféuxj,lekaug,uéu: Ut ABC ot | (B)
mAB =3.6 cm, mBC =4.2 cm and m«B =75°
Construct A ABC. Draw the bisectors of their angles and verify their concurrency.
mAB =3.6 cm, mBC =4.2 cm and m«B =75°

The bisector of the angles of a triangle are concurrent Jf Zx &% uist £ ygsts uF £ aus d 9: A v

OR
« —ut Gt e U 50 J6 Lk P Qo 8.2 0 Cbr g s
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15 ==/‘f u’,,",v et v,f
)’a/’u:ew'aw»é.,m..wlm_wugﬂ,ézf:&VL.J:r,;/,QKQm-wig.;D MAB,C Azl ldirs b4 |
Cond b tad b b S S (Sl S imlietl A\ S
e (5 > 24 LA
Find “m” sothat x* +4x + m isa complete sc;uare LlpB uy X' +ax+m fgzq.k(oz(f"m” 6y
4 (D) 16 (© -8 (B) 8 W
WCF of a-b and & ~b® i§ o | a1 2 b st o' -1 |
a’—ab+b’ (D) a*+ab+b> (O a+b (B) a-b (A)
4= is the solation of the inequality e Herf Lalo g x=0| @)
x-2<0 (D) x+2>0 (O 3x+5 (B) x>0 W
Poiut(2,~ 3) lies is quadrant kBl ,-3) 8 (@)
v (D) m © o ® 1 W
A triangle having all sides different s called e O e B WA R L 251 | (5)
Right angle osi/12/§ (D)  Equilateral Luegisss (C)  Scalene Lusyi ¥ (B) Isosceles uf-.’. Ligsts (A)
The symbol used for line AB is q.GﬂJWlww.g’_LAB | @)
4B ) 4B (© |aB] ® AB W)
In paralielogram opposite angles are ... Uln &l ZEueigan | (7)
Diagonal 7+ (D) Opposite 3¥ (C) Same %L1 (B) Congruent S W
The .c...... Of the sides of a triangle are concurrent Sl nkif LC“"LJ'J"UI‘ ®
Angle wsli (D)  Mid point 15" (C). Rightbisector i+ (B) Bisection ¥ (A)
One and ouly onc line can be drawn through ............. point q..ﬂgg'ﬂi.{u/m..g e\ S bl e | (9)
2@ 1@ 4@ 30
Avea of given fgUre s v L Jaem e 3 KPIS | 10)
4 cmn
6em’ (D) gem’ (C) 4cm’ (B) 16cm” (A
et f E e s B LU L )
................. congruent triangles can be made by joining mid points of the sides of triangle ;
: 2 5 (© 4 B 3W
If \g Z‘ =0 , then x is equal to A4 x In ‘i 2' =0 Q2
-9 (D) 6 (© -6 B) 9 W
In V45 then radicand is .. q.ﬁvgi_.ru: 45 | (13)
2o 5 © e 3w
108 2718 = vmeescmeeeeee e = log 2.718 | (14)
1 (» 03816 (© 0.4342 (B) 0o W
}a:; o —i—b is equal to | &gl %b + ;}:5 @15
| 2O g © 2 ® W
';
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Q. No. 2 Write Six short answers to the following 2x6=12 254)’ u“i/‘; £!}l{4u‘lJ o 2 / dlr
HA:[_;‘ g] B:["j ;] Find A-B  #*=dfA-BJ B = [; ,ﬂmA [;’ ;]f' i
sinpity |22 =k
If Z=2+i Findvalueof Z — Z _ geprodf 227 7 z=2+i S| iii
Express in scientific notation 0.0074 0.0074 ZE s uﬁ(f)'(f"lf iv
Findvalueof x  log, 64 =2 log.64=2 2‘."‘-:(:”‘.::‘2 x| v
Simplify (x*-49). (5 ":72) . (*—49). (Sx:; Z# | i
If x-~=2 Findthevalueof x* + £rPJJx +5 7 x-2=2 /1| i
Factorize x'—21x + 108 . T U -21x+ 108 Z5YF | vidi
Factorize 4x"—~(Q2y +z)" 4’ -Qy+2l 27| ix
Q.No.3 Write Six short answers to the following 2x6 = 12 2‘{1,/’ @t.,l.i’/‘-? Lz {c,u:;b(yu 3 AUy
Find the H.C.F of expressions bir factorization X +5x+6 , X —4x~12 é{’)‘"d 73 .ﬂ/ﬁ;f‘” BeKUA | i
Solve the equation gx = ’le = x+§ -?2;7( - %x = x+% ér}vud’mw i
Solve the inequality 3x + 1 < 5x—4 3x+ 1<5x—4 S e f | i
Bay-1=0 Zeh Ul o mim MLl y=mxto Seblodnds | iv
Find the values of mand ¢ ofthe line by expressingn the form y=mx + ¢ 3x-2y—-1=0
Draw the graphof x=2 x=2 ’L.‘.bh.:l/ Kabsls | v
Find the distance between the points A(2,9), B(-7,-2) AQ,9), B(-7,-2) ZEeb bl nlUnin L6 | i
AG,2), B(7,2) o B0k Be L bdUtn i | vii
Find the mid-point of the line segment joining each pairs of points A(9,2), B(7,2)
Whatismeantby S.S.S = S.S.§ ? Seslpfefo S = S| i
The given figure LMNP is a paralleiogram. Find the value of m, n i(}" uf"g Gn i m & LMNP Lo PG| ix
4m +n
$ f
L 8m-4n
Q. No. 4 Write Six short answers to the following 2x6=12 54/..,1,:; A LngedtLits 4 Ay
Define bisector of a line segment é...-l Y d J s |
Verify 3 cm,4 cm, 5 cm are the lengths of triangles or not. Give reason é)(.ﬂ) - LUk S ..‘Llr'(ffs em,4cm,3cm | ii
Define Ratio 2oyl i
State: Pythagoras Teorem Lopsft L | v
Find the unknown value of “x” in figure . z“:r)” =y X ( S S v
4cm Scm
(ég IJA) /p
x
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; Define arca of a figure :;‘!.T...éjj:"&é’;.{: QT
Find the area of the ﬁgun; err)!” ,}'A’f vii
2cm

4cm

Define incentre ’2:(..4}"- J S /&uﬁl viii

Constructa A ABC ,in which mAB =3.2¢m,mBC =4.2cm, mCA=52cm g u_{t‘: AARC ! ix
r 93

Bx3=24 v 6 9 Air £ ebizletrf Sa oyl w2

NOTE: Attempt THREE questions inall whereas Question No. 9 is compulsory

Solve the system of linear equations by the matrix inversion method ﬁ.:‘f enalfus Lusds fussn gl /'f‘-’-' (-5 AJir

4x—-2y=-6
6x—2y=-10
Solve the equation forreal x and y G +4iy-2G-yD=x+yi 2SSy xSebsls | (B)

|
|

l\ Use log table to find the value of : ’ﬂ:—o)%—ziﬁ : /?‘—7—21%%2—0—'32 ’{:/r}t"’ ..:,E Py J Jug{‘? V1 (A)-6 / Jis

’Z:r(_»l"wz(; xy tyz+zx I x2+y2+zz=64 #l x+y+z=18 S| ®

"Ifx+y+z=1s and X’ +y’ +7' =64 , then find the vaiuc of xy +yz+2x

—

Factorize the polynomial by factor theorem X %X ~22x +40 LA e esalsf s | (-1 A |
i
. fjr !
Find H.C.F by division method LHal-16x+12 , X +X-10x+8 b i 2k L (8) ‘,
|
S o

PO PR .3 ¥ e et ol Pl 2 e

Solve the equation g 2 — — da 2 3 gf.J’J/_A:L—‘ (A)~8 A Jis

mPQ =4.5cm , mQR =3.9cm , m LR=45" 2{ Lt t: APQR | (B)

Construct the A PQR and draw altitades mljﬁ =45cm , mﬁ—ﬁ =39cm , m ZR=45

e

I
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: Prove that any point on the bisector of an angle is equidistant from its arms
\ , or/ |
i wa:u,b:uf ,}'JJB’MCW'UMJIP dl;blﬁ/l/,l/;ulé l;/,u:ﬁﬁ',:lf,,f -’.’_faf'

Prove that parallelograms on equal bases and having the same (or equal) altitude are equal in area
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